
A-BRKT-030_PCL V1Version:1 

BRKT-030         Poynting GmbH 
 

 

Item Description Quantity 

 For BRKT-As030  

1. Bracket Universal L-Shaped DC Die Cast 1 

2. M6 x 30mm Bolt SS  3 

3. M6 nylock nut ss 3 

4.  M6 flat washer ss) 6 

   

   

 

Installation Instructions 
Pole Mounting 
 
1. Attach the universal L bracket to the antenna by means of the three M6 bolts,six M6 flat washers and three M6 nylock nuts 

provided.  
 

 
 

2. Attach the assembly to a mast (diameter 32-50mm) using the two Econo-bracket assembly as shown in the figure below 
 

 
 

 


